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public class Test41{
public static void func(int n){
System.out.println(n);
if (n>=0) func(n-1);
}//func
public static void main(String args(]) {
func(12);
}//main
}//class
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public class Test4a(
static final int SECRET NUM = 11213;
static final PAY RATE = 18.35
public void main(String[] arg) {
int one, two;
double first, second;
one = 18; two = 1l1l; first = 25;
second = first * three;
SECRET_NUM = SECRET NUM + 3;
System.out.println(first+""+second+" "+SECRET_NUM) ;
paycheck = hoursWorked * PAY_ RATE
System.out.println("Wages="paycheck) ;
}//main
}//class
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Q1) Trace the following programs and choose the correct answer
a)

import java.util.*:
public class App {
public static void main(String[] args) {
List p = new ArrayList();
p.add(7);
p.add(1);
p-add(s);
p-add(1);
p.remove(1);
System.out.printin(p);
}

[7,5, 1]

Scanned by CamScanner



Sy
\ 'clgtss Alpha {

' .1/String getType() {
./ return "alpha":

)
class Beta éxtends Alpha {

String getType() {
return "beta":

}

Public class Gamma extends Beta {
String getType() {
return "gamma";

Public static vojqg main(String[] args) {
Gamma g1 = new Alpha);
Gamma g2 = ey Beta();

System.out.println(g1.genype() +U 4 92.getType()):
} . .

}

A) alpha beta

B) beta beta

C) gamma gamma
D) Compilation fails. ’

c)
class array_output
Public static void main(String argsp))

int array_variable [1 = new int[10]
for (inti=0:7< 10; ++j)

array_variable[i] = :
System.out.print(array_variable[i] +"")
i++;

}

}

}
A)02468

B)13579
C)O123456789
D)12345678910
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d)
abstract class A
(.
inti;
abstract void display();

class B extends A
L
int J;
void display()
{
System.out.printin(j);

}

class Abstract_demo
{
public static void main(String args(])
{
B obj = new B();, . .
obj.j=2; )
obj.display();
}
}

A)O

B) 2 '
C) Runtime Error

D) Compilation Error

Q2)

1) Which of the following Java statements set even to true if n is even, and to false if
nis odd? (nis an integer.) Assume n >= 0. (Even numbers are those integers which,
when divided by 2, have a remainder of 0.)

|. boolean even = (n/2.0 == (double)(n/2)); II. boolean even = (n % 2 == 0),
[1l. boolean even = (n div 2 == 0), IV. boolean even = (n % 2 == n/2),
A. l only D. lll and IV only

B. I and Il only E. I Il and IV only

C. lland Ill only
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2) An interface must meet which of these restrictions?

I It must not have any fields.

L. All methods must be abstract. \
III. Only public methods are allowed.
- Aclass can Implement only one interface. | )
A. Il and || only D.1,land |v only
B. 1, Iland 1y only E. L ILIand v

C.I and IV only

A. fields C. additional pylons

B. Constructors D. abstract methods

A. method overloading

B. method overriding

C. method hiding

D. none of the mentioned

6) To prevent any method from overriding, we declare the method as,

A. static B. const
C. final D. abstract
E. none of the above.
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7) Which one of the following is not true?

A class containing abstract methods is called an abstract class.

Abstract methods should be implemented in the derived class.

An abstract class cannot have non-abstract methods. :

A class must be qualified as ‘abstract’ class, if it contains one abstract method.
None of the above.

moow>

8) Which statement is not true in java language?

A. A public member of a class can be accessed in all the packages.

B. A private member of a class cannot be accessed by the methods of the same
class.

C. A private member of a class cannot be accessed from its derived class.

D. A protected member of a class can be accessed from its derived class.

E. None of the above.

9) Which of the following is not true?

A. Aninterface can extend another interface.

B. A class which is implementing an interface must implement all the methods of
the interface. '

C. Aninterface can implement another interface.

D. An interface is a solution for multiple inheritance in java.

E. None of the above.

10) In object-oriented programming, the process by which one object acquires the
properties of another object is called

A. Encapsulation
B. Polymorphism
C. Overloading
D. Inheritance

E. Overriding.

11) What is the error in the following class definitions?
abstract class XY

abstract sum(int x, inty){ }

}

A. Class header is not defined properly
B. Constructor is not defined

C. Method is not defined properly
D. Noerror

» . L]
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12) .o are used to document a program and improve its readability.

A. System cells
B. Keywords

C. Comments
D

. Control structures
E. Blocks.

13) What is false about constructor?

A. Constructors cannot be synchronized in Java
B. Java does not provide default copy constructor
C. Constructor can be overloaded

D. “this” and ‘super” can be used in a constructor

14) If method carries the same name as class name and method doesn't have any

return type, then it is known as...... ?

A. Destructors
B. Object

C. Variable

D. Constructor
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